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Write the correct answer

The drawing shows a scene on a calendar. .

1. 21 and £2 are complementary
angles. If £1 measures 35°, what is
the measure of 227

HE|
H

2. /3 and 24 are supplem‘en’tary_

angies. If £3 measures 50°, whatis . .

the meastire of 247

2

1

" 3. Which angie is an obtuse angle [_6

or £L77

Choose the ietter for the correct answer

3 Wthh ang]e Eabeled on the drawmg
- xsanght angle’? N

The drawing shows the path a player runs to cross a sports ﬂetd

5. Which of the following could be the
measures of £ T7ZU and £ QZR?
A msTZU = 55° and m£QZR = b5°
B m2TZU = 25° and m£QZR = 90°
C mATZU=80°and m £LQZR = 100°
D m.TZU = 35° and m£QZR = 80°
6. If £ RZS measures 35°, what is the
measure of L8277
F 155° o
G-145°
H 55°
J 45° .

*7. LA and £B are complementary
angles. The measure of £Bis 4
times the measure of £ A. What are
the measures of the angles?
AmLA= 16" and m4B = 64°

- BmZA= 18% and m4B = 72°
C msA=36°andm LB = 144%
D msA = 45° and mZB = 135°
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8. The hands of a clock-form an acute

angle at 1:00. What type of angle do
they form at 4: 00?

F acute
G right
H obluse
J straight



_Draw lines to match each term with the correct figure. Each figure ..
has a corresponding letter. Use the letiers to solve the riddie.- -

1. complementary angles - | s B L. |
s .

2. rjgi}t ang[e .

3. ray 3
4. supplementary angles : . S
o Y
5. vertex
~ 180° R
6. obtuse angle - - .
&
N
7. acute angle _ ... 14b° '
45°

8. straight angle

Who performs operations in the fish hospital?
The ‘ ‘




